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Day 2: Primary Trig Ratios - Finding Angles Unit 1: Trigopnometry

DETERMINING ANGLES IN RIGHT TRIANGLES

RECALL the three primary trigonometry ratios. KEY WORDS
. » OPPOSITE _ ADJACENT _ OPPOSITE Opposite/Hypotenuse
SN0 =ypoTENUSE 7= myporenuse "%~ “ApjacENT Adjacent/typotEliEey
Opposite/Adjacent
i Inverse
For every trigonometry ratio there is an INVERSE atig |t is used to calculate ANGLES. Sin't
. L . Cos’?
Inverse ratios are usually found on a scientific calculator by using the 2"F, INV, or SHIFT key Tan!
The injverse for sin is: The invFrse for cos is: The inverse for tan is: ?rg::;gure
" <0s ton~! two

CASE A) DETERMINING THE ANGLE WITH INVERSE RATIO
Solved Example: Calculate the angles given. Round your answer to whole degree.
sin 8 = 0.667 *swap & with 0.667

sint 0.667 = 6 *sin becomes sin™
0=4
Example: Calculate each of the angles given. Round your answer to whole degree.
a) cos #=0.667 b) tan 6 =0.667
COS_{O_‘Dé?‘:G— 'éQn‘_l Oéﬂbl—:_(g—
G < Ug 0= 3y

CASE B) DETERMINING THE ANGLE FROM THE TRIANGLE
To find the measure of a(n) Q LU -I—¢ angle in a right-angle triangle, it is necessary to have the V1€ Q3U ( ¢ of any

+wa  sides of the triangle.

3 Steps to Solving ANGLES
Step 1: Label the sides of your triangle relative to the angle you want to find
Step 2: Determine which trig ratio to use (sin, cos, tan)
Step 3: Set up the equation with the unknown and solve using the inverse trig ratio (sin?, cos?, or tan).

Solved Example: Determine the angle shown to the nearest degree. X
Step 1:
6
b
N\
O ‘1 8 yA
Y N
a4

Step 2: with sides O and A we calculate tan ratio
Step3:tan® =% *swap 6/8 with 6
16

tan~'— =0
an 3

=~ Angle 0 is approximately 37°.
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Date:

Day 2: Primary Trig Ratios - Finding Angles Unit 1: Trigopnometry
PRACTICE
Example: Find each of the angles shown, rounded to one decimal place.
a) Find £C b) Find £ZT 0 ¢) Find ZM
) C and =0 ) tonG - £ ) K €05 = A
H - Ak t
‘ E--..‘, S 65em T ‘h'm9'= ."Ii D m .e:- 2
17 cm SV =— =) 65 -—
S OH’ S ” 4.5cm A M - 3
& ~1(L35 L 3 72
s ()-8 ’ Yo (%)=9" " ws|(2)~

[ ]
A Oﬁ cm E |i@-2_'53."{ U @ Id=q32’3

1. Evaluate each of the following to the nearest degree.

a) sina=0.34 v b) cosb=0.5 . c) tanc=0.466 . o
Sif'03y=0 > a=20 cos'05=L b=bHO tas'0466 =c C=25
d) sind =0.951 e) cose=0.574 f) tanf =0.268
60971 =d o' 05 =2 | b 0.269- F
d172° e =55 f—:_l¢°
2. Find each of the angles shown. Round to one decimal.
a - b —
) o = ) A sl
8m tor' 1') =5 {—;5 cm 20 cm "jot{-
T/ = oy ™ Ea— -
-‘mi &;3‘.
A 10m , 1
< s
0) ton 6= 22 d) o o sin6- 3
(
p( 13cm b?_?e):d- 14m 8m ] “'
3 5.'«"( ) ¢
20 cm 0 651 g=3y.7
3. Find the length of side x to the nearest tenth of a metre and of angle 6 to the nearest degree.
r-]
— 6
X
O x= 5 xtonld t9n9= 47
> 6
43° (11 0 X-:Lj '.'{.
50m 60m =4.1mM ot
A
4. Based on the following diagram use the values given to find the missing angles indicated.
a) a=55m,b=137m - find LA, ZB A Diagram is NOT drawn to scale
b) a=235cm, c=268 cm > find ZA, ZB B
c) b=21mm, c=40 mm -> find ZA, ZB
C B

d) a=30cm, b=285cm - find ZA, ZB
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o B d+& '\'qa:l'ez
R d+9 =99

t‘"“'\gs_
' B tenh=22 > 4o7'(52) = = |o( -‘.-_3.'2,°i
C ) ki > ta (13‘?- <2




